(IR
o

dofid, Jdm,_, [fb / GeV]
|

=
<
[N

1072

1073

10

Ratio to ATLAS

0.5

13000 GeV pp 4-lepton
— T T T T T 1 - T T T [ T
= mM(4l) (atlas2019-4lline) =
= . =
— ] =
SENL E
— —— Pythia 8.212 default ]
. —— Pythia 8.212 tune-A14-CT —
| ------ Pythia 8.212 tune-A14- MSTWZOO )
= Pythia 8.212 tune-A14-NNPDF2.3LO 3
—  ---- Pythia 8.212 tune-CUETP8S1 —
=3 | | | | | | | | | | =
: T T T T | T T T | T |:

1 1 1 | " 1 " 1
0 1000
4eII [GEV]

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


